(8)

X Ltd. wishes to purchase a business and
seeks your advice about the average working
capital requirements in first year’s trading.
The following data are available and you are
told to add 10% for contingencies :

Per annum
(%)

(a) Average amount locked

up in stocks of :

Work-in-progress and

finished goods 10,000

Materials and Stores 16,000
(b) Awverage credit allowed to :

Local sales - 2 weeks 1,56,000

Export sales - 6 weeks 6,24,000
(c) Time-lag in Payment for :

Purchase - 4 weeks 1,92,000

Wages - 2 weeks 5,20,000

327_RIG_(8)

1,080

=
=
=
—
o AB-1258
B.Com. (Part-III)
Examination, Mar.-April, 2023
Paper - 1
Financial Management

Time : Three Hours] [Maximum Marks : 75
AT W TE F SN e ot wE= F OIS

i F
Note : Answer all questions. All questions carry equal

marks.
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1. fau = + gfww dfew fog s =
wHfa am & w fad=ww ==

Define Finance Function. Describe its nature
and scope.
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=1ieq ? .
What is financial planning ? What are the
various factors that a financial plan must

consider ?
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Define Capital budgeting and explain its scope
and importance.
3rgar / OR

e faaw & WA X q@ ¥ @ Wefd
TeA-X | TRIA-Y
A % 56,125 | ¥ 56,125
FAa SHaehre 5 o 5 ad
FEfa FEwY A 73,000 ¥ 3,000

(3)

WX T AR o ¥ w d siraEten
T 725,000 &1 W Y@r vsha ? B
P T 1w T 10% &1 10% T A
T & fog wwT g e §

EL | I o0 - m v v
PVF. 0909 0826 0.751 0.683 0.621
TR Yo fa 1 W& Fa g gEne 6

feg weitr =« g7 =ifew?

The following details relate to the two
machines X and Y:

Machine-X | Machine-¥

Cost ¥56,125| ¥ 56,125
Estimated Life 5 years 5 years
Estimated salvage value ¥ 3,000 ¥ 3,000

Annual income after
tax and depreciation -

[ ad 73,375| T 11,375

n =" 75375 ¥9,375

m a4 T7375| ¥7.375

v ¥ ¥9,375| ¥5,375

v & 711,375 ¥3,375
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I Year T3,375]| T11,375

Il Year ¥ 5375 9375

Il Year 1375 T71375

IV Year $9375| 5375

V_ Year T 11,375 ¥i15
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(4)

Overhauling charges at the end of 3rd year

¥ 25,000 in case of Machine-X. .U%.dnpmao:
has been charged at straight line B_wﬂron_.
Discounting rate is 10%. P.VE at 10% for

five years are:
Year I I I v v
PVF. 0909 0.826 0.751 0.683 0.621

Using the present value method, suggest
which machine should be chosen ?
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3. fefafEs W feofoml fafau :
(@) IREEH wies
(b)) T <iew
(c) 9% wiaws
Write notes on the following :
(a) Operating Leverage
(b) Financial Leverage
(c) Combined Eﬂﬂﬂ@ﬂ
HIqr / OR

jaoﬂ@ﬁmﬂ—ﬁ_ﬂ_ﬂmw

v
w3 R (400 siw . aﬁo.ﬁwoo
P A 30,000
M.Mzﬂzm 20,000

o 10,000
am 100,000
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(5)

FE 3w osw PSR ow oz wfe sw
aifsta fan %1 3@t *1 #t 37 s0% & 3R
svafEl ¥ afdmm &= F =7 25% F)

The Capital structure of Rama Ltd. are as under :

(%)
Equity Share Capital (400 shares) 40,000
8% Preference Shares 30,000
6% Debentures 20,000
Retained Eearnings 10,000
Total 1,00,000

The Company has earned ¥ 15 per share om
Equity Share Capital. Its tax rate is 50% and
its shareholders personal tax liability is 25%.
Find out the weighted average cost of capital.
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. 'E@ W R QA A9 F I 2 7 T

TR, NWE @ q=et #}faEe st

What do you understand by ‘Trading on
Equity’ ? Discuss its types, objects and
limitations.
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(6)
s oS ¥ fog Frefated e
I ©
(a) Wia 3@ T T 4.00
(b) ol g sfesd YA W 15%
() fafmnl w v F I 18%

Ife YEE U (i) 40% A (i) 50% ;A
(iii) 60% &, A TR Hied & IFITAR wfa
AW qed S ' ?

The following particulars are available for

(7)

What do you understand by cash
management ? Explain the objectives of cash
management. Describe the factors determining
level of cash balance.
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X fdo & =agm = = H T
F T R =R F wgm ad # 3hEa
e IS &1 FAEvEdal F AR H AT
A T o =ed 1 Fefafes @Es
sqee ¥ ak s Fmr Tn o © %
aformmel & fag 10% =S -

Amar Enterprises : yfaad
(a) Eamings per share ¥ 4.00. )
(b) Rate of Return desired by Shareholders (@) V% ¥ 3lwa ufa:
1% e T ¥ER T 10,000
(c) Rate of Return on Investments 18% A .ﬂﬂ T 16.000
What will be the price per share as per
Walter’s model if Pay-out ratio is (i) 40% or (b) e Awa wE
(if) 50% or (iii) 60% ? g fawl - 2 §9E 1,56,000
F®1E / Unit-V frafa fast - 6 W< 6.24,000
5. @Hﬂﬂﬁ@ﬁﬁﬁ_ﬁnﬂwwvﬂmﬂﬂm (©) WHHl # W R :
F R F WIERY T F owR W %9 - 4 SQE 1,92,000
%ﬂwmﬁﬂmﬂ.ﬂmﬁﬂﬂn_ qegd - 2 W@E 5,20,000
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